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FIRST REVISION TEST . 2025 1T T

Hime: 3, Standard - XN RegM™o | | —
i %0 hra. . HlTEHlTICS Marks: W
- ART .
LT ﬁ‘:.:lj." the Questions: A :ﬂ.'l'l‘ﬁ
a)a | 3PON - SINGUAr Mat such that AAT = ATA and B = A AT, then B8 @
i €)1y CE:R
2 3 @)
e T = M.S.UDHAYA MURUGAN
Ak olmemat (2 4 6 8 JAYAM TUITION
a) 1 S gL R NEMILICHERY RLY.OPP
b) 2 €} 3 d) 4
3. 1 :
1215 a complex number such that z « CR and 2 - -¢R_then izl s
e b) 1 ¢ 2 e
4 Wa, p and y are the rocts of x° + px? +qu+1=0then E-i 3
ik
-,q zt Q
8) — b) — c) ? d@ -3
5. The domain of the function which is defined by f(x) = Sin- ' /X -1 8
a) 1. 2) b) [-1. 1) e\ [0, 1] d) [-1. 0)
6. I du(buc)=(a=b).¢.where a b ¢ areanythree vectors suchthatb c«0andab =0
then 3 and ¢ are
a) perpendicular  b) paraliel ¢) inchined at angle *3 d) inclined at an angle =%
y s Iunu[n:[: - J—] s
XE=s X
ajo b)1 c) 2 d) =

10.

1.

y iy u
Hulx y)= e¥ Y then % is equal to

i

a) Er’-f‘ b) 2xu ¢) xu d) "_Fu
The approximate change in the volume v of a cube of side x melres caused by increasing

he side by 1% 15 .
a)0.3xdxm®  1)0.03xm’ €)0.03 % m? d) 0.03 & m*
dy I
The solution of the differential equation gy ~ ?ﬁ; U
a)y+sin'x=c bix+snlyz0 o)y +2sinx=¢ d)xF +2siny=0
A random variable x has binomial distribution with n = 25 and p = 0.3 then standard
deviation is
a6 b) 4 c)3 d)2
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JaYAM TUITION HNEMILICHERY RLYOPP :ﬂl+
i3 tnthe pet Qe 88 bea+b+abthenthe value ofyin3 « (¥ « 5)= 7 .l‘-"l
2 e s "
4 b} 3 ©) o d) 4

1l

14

15

16

Ve

18

19.

20.

it i“mﬁ‘E'S-Htl‘s the rank and A and B are n * n matrices, then
a) PiA + B) = P(A) + P(B) b) P(AB) = P(A) P(B} ¢) P(A - B) = P(A) - P(B) d) p
kienlify the incomect stalement M'E.-
- 1 - ;
2Ptz Re@slzl O IZ1-12211201Z1+ 221 @) 2]
The ampltude and period of y = a tan b x are respectively. 1
T

a)lal g b} a, . c) not defined, ﬂ d) not defineg ©
; _ b " b

Which one is meaningful?

3 laxbl(B¢)  b) ax(5+b) o) (@b)x(€d) ) [@xb). Exg)

Rolle’s constant ¢ for the function f(x) = |x|, x ¢ [-1. 1] is

ay b} 1 c) -1 d) not exisling

28
It f{2a-x) = f(x) then [M(x)dx =
0

a 3
a) ?gfl_xldx by ff(x)dx ¢} 0 d) f!{xmx
=5 l}
The integrating factor of gi +px=Q g
a) g!Poy D) plpdx c) ol Cdy d) ofdx
Itx +y=kis a normal 1o the parabola y” = 12x then the value of kis
a) 3 b) -1 c) d) 9
PART -B

Il Answer any 7 questions. 1)) Q.No.30 is compulsory.

21,
22

23,

28,

2%,
26.

27.

~Obtain the equation of circle for which (3, 4) and (2,

24+ Tz
Find the value of Im’

-7
| 5 i }are the ends of a diameter
Find the inverse of

1 -3
x2 10
Evaluate 35”" x dx

Find the value of lan"1(-1) + cos™'(Y4)

Find the slopeﬂnhutangentmthacuw&yuhzxz-lau.. 1

Find the acute angle between the planes F(2i +2]+2K) = 19 anu_:! ax -2y + 225 15
- &y + 2 13
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3

y . Al - MATHS
28. d;nw H;ﬂ! + y° = 12, where 1 is a constant is a solution of the dfferential equation

dx y
29. Prove that in an %Egehrarc structure the Identify element (f exists) must be unlqua‘

X< 4y . xy o o

"I:_ o — . H—i'!f— —ﬂ

30. I f{x, y) 3 then S.T. * = N
PART -C

Il Answer any 7 questions. ii) Q.No.40 is compulsory. Tx3=24

31. Solve by Cramer'srule Sx-2y+16=0, x+3y.7=

9- ri]‘?+[zn--5a ‘

94 ?-ﬁi-] 1S real.

32. Show lhat [

2 2
33. Prove that the length of the Latus Reclum of the hyperbola -x—z-!; =115 2 h?/
a* b a

34, Find the magnitude and direction cosines of the torque of a force represented by 2i + j -k
if it acts about the point (2, 0. -1) and through the origin.

1-cosmb

[ 1-cosnd

35, If lim ] -1 then prove thalm = 4 n.

....ﬂ
* n'd dx
35. Evaluale |

oD 1+ 5':"55 X

37. Solve : {1+x21—=1+r

38. Suppose thal I’{x} given b-elm-' rEpr&s-enls probability mass function.
L J 4 | 5 ] 6]
[1(x) [ c? zn? 3c? | 451 | ¢ 1 2]
Find i) value of C i) Mean & variance

39. Construct the truth table for (pvqQ) v (-g)

40. If a & P are the roots of the quadralic equation 2x2 - 7x + 13 = 0 then show that

ﬂz + I]E + 3[[13 = 15—
4
g PART -D
IV Answer all questions : T=5=35

41. a) Aboyis walking along the path y = ax? + bx + ¢ through the points (-6, 8) (-2, -12) and
(3. 8). Ha wants to meet his friend and (7, 60). Will he meet his friend ? (use Gaussian
efimination method). (OR)

b) Ifz, 2, and z, are three complex numbers such that {z;[ =1, [z2| =2, [z3|=3 and
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a)

b}
a)

b)

. a)

b)

a)

b)

a)

b)

a)

b)

|2y v 25 + 24 |- 1 show tha 192425 + 42,24+ 25241 6

Find all Zeros of the polynomial x© . I - Gt 4 ?'—_:!'.I ) :'Ilﬂ.t.? . 0% + 135 if 15 known

that 1 + 2i and ,f3 are lwo of s 2eros (OR)

Solve: lﬂn"lfﬂj.mn-ﬂf AR
: X-2 [x:2] 4
A bridge r}ﬂﬁ 9 parabolic arch Ittt is 10m heighl in the centre and 30m wade at the
bottom. Find the height of the arch 6m from the centre, on either sides . (OR)
E"r veclor melhod  Prove that cos (tn + ['.} = COSit. COS[) - Bina sunf

Il the curves ax? + by? = 1 and ca? + dy? = 1intersect each ciher arthogonaly if
1 1 1 1 :

e N TR

a b cod (OR)

Prove that f(x, y) = x® - 2x% + 3xy? + y is homogeneous, what is the degree? Verify
Euler's Theorem for f.

A pot of boiling water at 100°c is removed from a stove at time t = 0 and left to cool in
the kitchen. Afier 5 minutes, The water temperature has decreased to 80°c. anc another
5 minutes later it has dropped to 65°. Determine the temperature of the kitchen. (OR)
The cumulative distribution function of a discrete random variable is given by

[0 for —mex<0

f2 for 0sx<l
Fx) = 35 for  lsx<2 M.S.UDHAYA MURUGAN M.Sc.,B.Ed,

45 for 2<x<3 JAYAM TUITION NEMILICHERY RLY.OPP
9010 for JIsx<4

| 1 for dsx<cw
Find (i) the probability mass function it) p(x < 3) and iii) p(x = 2)

a+b
i} Define an operation « on Q as follows @ b “{T] a, b ¢Q. Examine the closure

commulative, associative properlies satisfied by « on Q.

a+b
ii) Define an operation « on Q as follows @ *b =(—2—] a.b € Q. Examine the existence

of Indentify and the existence of inverse for the operation » on Q. (OR)
Find the intervals of increasing, decreasing concavity and point of inflection of the
curve y = x° - 3x.

x-2 y-3 z-4 x-1 y-4

z2-5
Show that the lines 3 " 3 and 3 i i are coplanar, Also

find the Cartesian equation of the plane containing these Iinaf: ; (OR)
Find the area of the region bounded between the parabolas y* = x and x* = y,

Kindly Send Me Your Questions & Answer Keys to us: padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

